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Representação de uma reação química e  
balanceamento das equações por tentativa 

 
→

→



•

•

•

•



𝑀𝑔 𝑠 + 𝑂2(𝑔)  →  𝑀𝑔𝑂(𝑠)

𝑀𝑔 𝑠 + 1 𝑂2(𝑔)  →  𝑀𝑔𝑂(𝑠)

𝑀𝑔 𝑠 + 1 𝑂2(𝑔)  → 2𝑀𝑔𝑂(𝑠)

2 𝑀𝑔 𝑠 + 1 𝑂2(𝑔)  → 2𝑀𝑔𝑂(𝑠)



𝐶8𝐻18

𝐶8𝐻18(𝑙) + 𝑂2(𝑔)  →  𝐶𝑂2(𝑔) + 𝐻2𝑂(𝑔)

𝐶8𝐻18

𝐶8𝐻18

𝐶𝑂2

𝐻2𝑂

1 𝐶8𝐻18(𝑙) + 𝑂2(𝑔)  →  𝐶𝑂2(𝑔) + 𝐻2𝑂(𝑔)

1 𝐶8𝐻18(𝑙) + 𝑂2(𝑔)  →  8 𝐶𝑂2(𝑔) + 𝐻2𝑂(𝑔)

1 𝐶8𝐻18(𝑙) + 𝑂2(𝑔)  →  8 𝐶𝑂2(𝑔) + 9 𝐻2𝑂(𝑔)



1 𝐶8𝐻18(𝑙) + 25 2 𝑂2(𝑔)  →  8 𝐶𝑂2(𝑔) + 9 𝐻2𝑂(𝑔)

2 𝐶8𝐻18(𝑙) + 25 𝑂2(𝑔)  →  16 𝐶𝑂2(𝑔) + 18 𝐻2𝑂(𝑔)



Evidências de ocorrência de uma 
reação 

•

•

•

•

•




